SRS 255

ke TIZER S

~

ZH7 . PRISFELSEERAT

B (hE) SEAT
BEHS: 64.500.24.01352.01

&7 BHHA: 2024-03-28

CCB_PCF_F_006CS 06 2023-11-09 1 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

ok BT ERE
B HBHF =D N p R =1 YN
RESRBR =D N p R =1 YN
I 105
SEBR A b 105 5
SE B -

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 TG 2 of 44










R R R S

REHRS: 64.500.24.01352.01

FoikErERSERH N N
bk BT E RS Rk E T EN—Ho
AR e Bl14 FCEBITHIREMESH,; MHEBEFBELY, Ha
LM RE HRFDRBHRER 5%LA
ZEFRIIESER X FEFRIEESR [ BRFIEER
T E HER 202428 7H
IiFzEHEA 20242 H 16 B
ZERK -
ZEER -
r .
- = - 177 %«Fﬁﬂq )
HWAR (MBR. £ | @RA . 1ZEREg « RER . MEKHE

RF) } \
@j%\ AR }%]’ . VB “ ¥

FTEIAERN (RE) BRAR MDA
REMNHERARERE TR 163 S@ET A S

ZEN AL

HEHA:

1 - /0672018 iR HMNEERT RIS, RESRTREBRERHIMATE
= SRR ;

2) meAraxeFy=2n e -
3:2019

3) BT HMERESFFRAMNZEIHEWREIEFN: CCB_GHG_P_09ECS BESAEESZETES
A2,

ZELEIL:

N 0 < 064-3:2019 X BT A EH “FAEA TR E P IR R E
2=t Heaay-50-12 [ 52:2) 5 4310M-4310M-92 ZBk4s (3 10 HELS) ERMEE
BRI LS 779 2.40E+03 kg COz2 eq (HsR 9 RSB S BB I~ mabix B T E 7R

1.88E+03 kg COz eq (24 o g snern~suers=H N
mam et 1so14067:2018 || NG

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 Difg 5 of 44



R R IR

REHRS: 64.500.24.01352.01

HR
T BEBBEIR ... 11
11 BZEBEBY oo 11
L2 et 11
1.3 BZEIEBBEETRRE ..o 12
14 BHEBER ..o 12

s T 13

2 BEETBEH.....oo oo 19
21 BESMBFIE e 19
22 BEEBUEBIEIRZMIE ... 19
2.3 FEBBEAMIL ..o 21
24 BBRIBT oo 21
25 BXEIRM ..o 22
2.8 e 23
27 EREGEIBEE ..o 24

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Dif5 6 of 44



R R IR

REHRS: 64.500.24.01352.01

R S 24

32 .. 24

3.3 EBIEIE e 25
34 MREBREIHE ..o 27
4 PRI B LR R I Moo 28
41  FPERERBIEELER. ..o 28
42 BEGREEABREESEER.........o oo, 33
43  SEREEMER—EIEREE . ..o 34
4.4 AR EIED I oo 35
45  BOBBTEDM oo 35
5 PRI ELSIEHI T ..o 38
B BEIIEE. ... 40
it A SEREEBIRBEAEIRIETUZR ... 41

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 DIRG 7 of 44






P RBRLRERS

REHRS: 64.500.24.01352.01

EB=R
1-1 4= mIMNIE (ELREIETELERES 2559 HRCAY-50-9 HRCAYZ-
50-9 HCAAY-50-12 HCAAYZ-50-12 HHTAY-50-42 HCTAY-50-32,
HCTAYZ-50-23 HCTAY-50-22 HLRWUCYZ-50-22T HLRHTCYZ-50-32T)17
E 1-2 Bk&=mIMIE (ELIETREFRES D57 4310M-4310M-9*2,
4310M-4310M-9%¥15 NM-NM-9*2 4310M-4310MA-9*5 4310M-DM-9*3,

4310M-NM-9*3 4310M-DMA-9*3 DM-DMA-9*3 NM-NM-12*3 DM-DM-

1252 ettt ettt n et 18
2L PR B T I G oo 21
2-2 ARG mESERARGRILFIIIERIZE ..o, 22
2-3 Bk A AR R I R T A TR AR e 22

CCB_PCF_F_006CS FRZsS 06 BIREMHHEE 2023-11-09 TG 9 of 44









R RS

RERS: 64.500.24.01352.01

1.3 ZEIHEWEER

Tuv T 2024 & 2 A 7 [l 2023 & 2 B 16 BHRIMFESIHT T XHITE

MMZZE. WRNABTEE: BIVEKXER. HREER. AR, WlhigE

HeRnIRA HAZE AT XL M T HIRE H S IEAYIERURER TR -

(1) RURZELR. R iEHRIR R ;

(2) FEFZENOFRHBRERXAENKFEIEMSEHAEVIRE. 2R, FEMT

2891

il

BREE;

(3) B EMHMEIRITHEEE;
(4

(5) REBMMEMIHFEIIZE,

#tEr i

BHETRIEN 100% U5, £EPFRARXIZITI0UE,
1.4 SIEEA

1) Eamersigs so 14067:2018 [ NEGTGTNENEGEGGEEEEEEEE
EATER IR AER A @i ITR S ;

e
£Z5RTFA 1SO 14064-3:2019;

CCB_PCF_F_006CS hkZS 06 RIREMHHER 2023-11-09 TIkg 12 of 44



P oalik B IR EIRE

RERS: 64.500.24.01352.01

s = GHG_P_09ECS RES

AEHE SZETELMIERF,
1.5 RELMZZREF @R

FRSHABS AR ASIKILT 2004 & 12 B, 4SHIEFI 70500 F5K, EBREFA
40000 51Z7To
NEFEFREESEFEMBL. FIMEMMBLS. RttEMHELS. SRESHLA.

BESR. AR, REFR. ERAMEF. TERATREBIBIE. KBS, TLB

0t

10000km 3B @& FABEE
#5. 50000km | lookm =:5445. 15000km JRittEB4E. 80000km B &R FE
1
BERFTHT RN, RAERSHBEBIERE S MEREN G~ m. AT
[ IO e e o NI Y et
NEmRENRETSE, URELER. MAELSMHEEERNI,.
NE—HRBFFORE AR, IBIMRRIPSEEOIFHE RIS SER, EH—2
. BMNERER. AT ‘AR ARBEKERESHE TR RRERH,
ghmsaz I

ERBRTOE., MRS,

CCB_PCF_F_006CS hRZ== 06 RIREMHHER 2023-11-09 Tifg 13 of 44



PRI R

RERS: 64.500.24.01352.01

FRZZEFRATERTESH 10 &S5 10

HNEE— UK S, RESEEMNERRINENLEMEMERING, SHER
FRAMESER, BEERTEEEERET T IRETUETIRAR. TRERF R
susswxeiss, wkisszanazzs so T
B IREITIRE, BT,

% ERIARRES ., BIBURAER AN BNE 1-1 iR, G475

shamane 1-1 Fr R 7=

CCB_PCF_F_006CS hkZS 06 RIREMHHER 2023-11-09 Tikg 14 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

® 11 FmES. BERTERER

a3l = anERdE BHElASR A~ &
HCAAY-50-12 2.26E+02 kg/km 2.03E+03 km
HCAAYZ-50-12 2.44E+02 kg/km 5.32E+04 km
HRCAYZ-50-9 1.86E+02 kg/km 1.21E+03 km
HRCAY-50-9 1.71E+02 kg/km 3.51E+03 km
Jou HCTAYZ-50-23 5.91E+02 kg/km 5.40E+00 km
e HCTAY-50-22 5.22E+02 kg/km 2.32E+02 km
HCTAY-50-32 1.11E+03 kg/km 2.50E+00 km
HHTAY-50-42 1.64E+03 kg/km 8.73E+00 km
HLRWUCYZ-50-22T 3.77E+02 kg/km 1.86E+02 km
HLRHTCYZ-50-32T 1.05E+03 kg/km 2.34E+03 km
4310M-4310M-9*2 5.00E+02 /km 9.60E-02 km
4310M-4310M-9*15 6.67E+01 /km 7.71E+01 km
NM-NM-9*2 5.00E+02 /km 3.50E+00 km
4310M-4310MA-9*5 2.00E+02 /km 3.69E+00 km
" 4310M-DM-9*3 3.33E+02 /km 7.96E+01 km
s 4310M-NM-9*3 3.33E+02  /km 4.31E+00 km
4310M-DMA-9*3 3.33E+02 /km 2.00E+00 km
DM-DMA-9*3 3.33E+02 /km 1.50E+00 km
NM-NM-12*3 3.33E+02 /km 4.22E+00 km
DM-DM-12*2 5.00E+02 /km 1.20E-02 km

CCB_PCF_F_006CS

hRZE= 06

BIREMHHEE 2023-11-09

DiR5 15 of 44




ik Bz E RS
REHRS: 64.500.24.01352.01

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 D15 16 of 44



P RBRLRERS

REHRS: 64.500.24.01352.01

1-1 4= mIMNRE (ELEIETELRES 2579 HRCAY-50-9 HRCAYZ-
50-9 HCAAY-50-12 HCAAYZ-50-12 HHTAY-50-42 HCTAY-50-32, HCTAYZ-

50-23 HCTAY-50-22, HLRWUCYZ-50-22T HLRHTCYZ-50-32T)

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 D5 17 of 44



P RBRLRERS

REHRS: 64.500.24.01352.01

1-2 BkEEFmIMNRE (A LA TEkERES DR 4310M-4310M-9%2,
4310M-4310M-9*15, NM-NM-9*2, 4310M-4310MA-9*5 4310M-DM-9*3, 4310M-

NM-9*3 4310M-DMA-9*3 DM-DMA-9*3 NM-NM-12*3, DM-DM-12*2)

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 Tif5 18 of 44



R R IR

REHRS: 64.500.24.01352.01

2 #ECHE

2.1 BESMKME

B s mR =S 0EES IPCC SRR ENTE—, iF
CO,) « B (CHs) « IF®m (N.O) . 7"&hii (SFs) « S @bty

1 (e Ccs 7n=5¢z (\F) .
2.2 BB IR E R

RIZEF mAv e D E g% 2-1 Fimme M anErs it T S

MEFHEARF LKL 105 T, FamErIRiNFRaE 2-1 Fixo

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 TIk5 19 of 44









i E B E IR S

REHRS: 64.500.24.01352.01

2-2 ZLirrmEn ARRGLAIIERIZE

B 2-3 Bk miEsBHRSRILFRIERIZE

2.5

1742 150 14067:2018 RiExtng (= G
=2 N - - -/ 74 7 5 4 o 5 7

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 TIk5 22 of 44



PR R R

RERS: 64.500.24.01352.01

RSP RERGR AN EmARRLEH 99.00%, [ INGTGTNGNGGGG

Tt No 9N, BES ERIEMILH. & TFIRE.

2.6 HECREM

T - o oo EieR BRI R T B,

R 2-2 BuEThEEN D ERER. RNMEE

g1e SEIER SEEMY
B I \ \
BEZrp ol I \ \
sz | T =0 IhSHE
&« [
e EEl T EmE
¢« [N
B I \ \
S E Gy Cut-off &8 \
% 2-3 s+
bug ] SEREN SEE
B I \ \
2Rl I \ \
se=gigges: | [ YIRSER If’E‘F =
(Bre IR
T seg
B N o s
(Bhik S R%0)
iz EE R L \ \
R Bl 2 Cut-off 1&A! \

CCB_PCF_F_006CS hkZS 06 RIREMHHER 2023-11-09 TIkg 23 of 44



R R R S

REHRS: 64.500.24.01352.01

2.7 Rr5dERE

ARIZE R AN s B EBTE 2045 SimaPro 9.5.0.0 fkZs, {#HH Ecoinvent

3.9.1 $dEE ImTL A %R IPCC 2021 GWP100 V1.02

3 ik ElHiEEREE

3.1 BUERIR

R ZE R @bk B B EE R R T ZER EARMARARRARES BRMERE

) -

R 3-1 o TEIERIRR

[RMEMER ERE Iy g SH=l
K EiRlREFER; B, KE; MEMITEMNIR
SER (4] S HRE
%, BEREIIRE; GEEZEE; BEEMK
&) iR
I SERiRE, BERSNE
BHIEIE FEMEARiEas R, REERER
m [EA MR ZR 1R Ecoinvent 3.9.1 ¥EEE
= (R
Hl&E LR Ecoinvent 3.9.1 ¥EEE
&) iR
TR Ecoinvent 3.9.1 #ERE

3.2 BERRIR

KRIZEFR I RBERRIZ.

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 TIk5 24 of 44




P RBRLRERS

REHRS: 64.500.24.01352.01

k) |

B RERERRNHEXY, HE B~ mER L e ARMERFE Rt
B 2 470 = HCAAYZ-50-12 1), 35 3-3 LUIBKEEL S 4310M-
DM-9*3 7ffl, FIH T H~ @M EBAZ FRETEGERRITN R S FETRBTE 5%

B RRETRERRMAT 1%me e, seng st A

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Tik5 25 of 44









PRI R

REHRS: 64.500.24.01352.01

4 FaRElzE  RIth

a1 I~

wEzganeanemuess, rasrswesariiiiiiiBscan
FEER (I A B 41) , s RnsmenEnE U RFSLE 42, &

4-3) o

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Tik5 28 of 44









i E B E IR S

REHRS: 64.500.24.01352.01

A3-fliE 3.86E+02 23.82
AL-EM MR 2.46E+03 85.79
HLRHTCYZ-
Al-A3-F= A2-iaki 1.73E+01 0.60
50-32T
A3-Fli& 3.90E+02 13.60

CCB_PCF_F_006CS

hRZ&E= 06

BIREMEHER 2023-11-09

Tifg 31 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

* 4-3 PR EE s EHAM R s e B R E R L 151

. . _ 5 A= BA B (i ik B 75
4 Sr R HAMER FEIT Eef5l (%)
(kgCO2eq/km)
Al- 1.76E+03 94.04
4310M-4310M- ~
Al-A3-Ffa A2-izHi 1.38E+00 0.07
9*2
A3-FliE 1.10E+02 5.88
AL-EM MR 1.50E+03 99.55
4310M-4310M- -
Al-A3-F=fa A2-icial 2.07E-01 0.01
9*15
A3-FliE 6.62E+00 0.44
Al-RE A EHIE N 1.69E+03 97.10
NM-NM-9*2 Al-A3-F= A A2-15%0 1.04E+00 0.06
A3-Flli& 4.96E+01 2.85
Al- 1.60E+03 98.92
4310M-
Al-A3-F= 54 A2-1BHi 6.77E-01 0.04
4310MA-9*5
A3-Flli& 1.68E+01 1.04
Al-EM MR 1.69E+03 08.14
4310M-DM-9*3 Al-A3-F=fa A2-1B5i 1.08E+00 0.06
A3-fli& 3.11E+01 1.80
Al- 1.64E+03 97.59
4310M-NM-9*3 Al-A3-F= A2-icia 8.18E-01 0.05
A3-fli& 3.97E+01 2.36
Al-FEM MR 1.75E+03 98.35
4310M-DMA- -
Al-A3-F= A A2-155 1.26E+00 0.07
9*3
A3-Flli& 2.81E+01 1.58
Al-EM MY 1.79E+03 98.38
DM-DMA-9*3 Al-A3-F=fa A2-1BHi 1.41E+00 0.08
A3-Flli&E 2.81E+01 1.54
Al- 2.10E+03 98.52
NM-NM-12*3 Al-A3-F= &4
A2-1BHi 7.12E-01 0.03

CCB_PCF_F_006CS

hRZE= 06

BIREMHHEE 2023-11-09

Tifg 32 of 44










PR R R

REHRS: 64.500.24.01352.01

4.4 ABEMDT

I 1 3.9. 1 FHHE

SHfER SimaPro 9.5.0.0 Y IPCC 2021 A TRF KT DITIAEE K. IULEAE!

S HCAAYZ-50-12 5Bk4458 S 4310M-DM-9*3 796, HARHEMDMERNK 4-6 5

% a7, wEswaER, gams ncaavz-so-12 [ G
(cv<ion) ; BEs s3iom-Dv-o-3 NG -

10%~30%) o

R 4-6 Z4iB S HCAAYZ-50-12 i B Mz EERFIF EZ iR

THITE
(CV%

EZnESi B ¥E FR{irEk REE

SEZ kgCO2eq/km 2.39E+03 | 2.35E+03 | 2.15E+02 8.96

R 4-7 k&AL S 4310M-DM-9*3 IR BiTMZEERFHFEZ DR

THTE
(CV%

IES iy | AR

=T kgCO.eq/km 1.73E+03 1.70E+03 | 2.03E+02 11.69

4.5 BURRED

BEZENBIEREDKRIE PEF FEIEREITH (DOR) 75& (R 4-8. & 4-9) o

IZEIRE LALLL HCAAYZ-50-12 58k 4310M-DM-9*3 7945, B~ DQR 94

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 Tik5 35 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

2, siaspe ek R 1, a7k
ENDA RITH R RARET 8008 T IRWER , BJA R &9 DQR. i1 (C
HEFEEMHN—HME (M) . FARKRME (Ter) . HIBARM (Ger) . BHEMEXK
R (Tie) FFEHYE (P) REDMENRK 4-8 5K 4-9 Fim. HF CHIM AEMRT,
HOImAEERS.

U£4i 85 HCAAYZ-50-12 5l , 457 quhY DOR (B9 1.97; LIBKEEL S 4310M-

DM-9*3 Afl, BkZk =By DQR 1B 1.57, HMFRTARFAIEIERE KT

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Tik5 36 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

R 4-8 L4 HCAAYZ-50-12 ik BB R EiTA R

45 EHA
FET BTidiE Ter | Ger | Tir | P WNE
P ER
fAEmmT 2 2 2 2 2.07%
REE (5RE) 2 3 2 | 2 4.08%
Al-RiAHE
iy el (5B 2 1 2 | 2 48.54%
Al1l-A3-F= HL7 HDPE 2 2 2 2 2.23%
o ik 2 3 2 2 23.76%
[n]n}
s T 2 2 2 | 2 2.07%
=7 1 | 1| 2|2 24%
A3-FliE&
o= 3 2 2 2 14.79%
Bt 212 |1.77| 2 | 2 100.00%
DQR 1.97 REFOEER=Z

CCB_PCF_F_006CS

hRZE= 06

BIREMHHEE 2023-11-09

TAfg 37 of 44




PR R S

REHRS: 64.500.24.01352.01

&R 4-9 Pk 4310M-DM-9+3 ik B i EIB R E IR R

YA
FEIT C M Ter | Ger | Tir | P NE
P ER
EIESR (E) v | v 2 2 2 |2 6.05%
Al1-A3-F= | Al-[REME}
EE2E (PTFE v v 3 2 2 | 2 7.22%
) HL7
1/2" B m% V| v 1 1 2 | 2 86.73%
2t v | v |120(113] 2 | 2 100.00%
DQR 1.58 REFptRER=
5 = mbkEil THERIY

I ::12 7 22 = = [
BIEE

wFaem, et e
SR, ST BT AT R RE R A —E R, FEEIE RN RN
I

%Fpkgr=g, mrermetn 7 e -7
Yo TR TTIBKEF QI SERT RS — R, FEEIERM RN

fER,

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 T1k5 38 of 44




R R IR

REHRS: 64.500.24.01352.01

BiGEER#H—TREX

rremes. wwsazentrs, LEERETIIIIIIIIlzz =,

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 TIk5 39 of 44




PRI R

REHRS: 64.500.24.01352.01

1)

2)

3)

4)

5)

6)
7

8)

9)

SE 3R

ISO 14067:2018 Carbon footprint of products —Requirements and guidelines for
quantification and communication

ISO 14064-3:2019 Greenhouse gases —Part 3: Specification with guidance for
the verification and validation of greenhouse gas statements

ISO 14040:2006 Environmental management — Life cycle assessment —
Principles and Framework

ISO 14044:2006 Environmental management — Life cycle assessment —
Principles and guidelines

PAS 2050:2011 Specification for the assessment of the life cycle greenhouse
gas emissions of goods and services

GHG protocol Product Life Cycle Accounting and Reporting Standard

Zampori, L. and Pant, R., Suggestions for updating the Product Environmental
Footprint (PEF) method, EUR 29682 EN, Publications Office of the European
Union, Luxembourg, 2019, ISBN 978-92-76- 00654-1, doi:10.2760/424613,
JRC115959.

Product Environmental Footprint Category Rules Guidance, Version 6.3, May
2018.

EN 15804:2012+A2:2019 Sustainability of construction works — Environmental
product declarations — Core rules for the product category of construction products

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 DI85 40 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

M A ERERIRBIHIERFETIR

= ~1 I

Al EIAREHER

BrTdiEyER

REREHER R

EizdE (E1H)

Brass {RoW}| brass production | Cut-off, U

Etzas (PTFE

Tetrafluoroethylene {RoW}| tetrafluoroethylene production |

Cut-off, U

Polyethylene, linear low density, granulate {RoW}|
polyethylene production, linear low density, granulate | Cut-

off, U

Packaging film, low density polyethylene {RoW}| packaging
film production, low density polyethylene | Cut-off, U

Packaging film, low density polyethylene {RoW}| packaging

@R
film production, low density polyethylene | Cut-off, U
Solder, bar, Sn95.5Ag3.9Cu0.6, for electronics industry
195522 {GLOY}| solder production, bar, Sn95.5Ag3.9Cu0.6, for
electronics industry | Cut-off, U
- Corrugated board box {RoW}| corrugated board box
FABLRFE
production | Cut-off, U
. Sawnwood, board, softwood, raw, dried (u=20%) {RoW}|
- board, softwood, raw, kiln drying to u=20% | Cut-off, U
Wire drawing, copper {RoW}| wire drawing, copper | Cut-off,
e RINT

U

REE (%K)

Copper, cathode {GLO}| market for copper, cathode | Cut-
off, U

Wem (38

Aluminium, primary, ingot {CN}| aluminium production,

primary, ingot | Cut-off, U

CCB_PCF_F_006CS

FRZsS 06 BIREMHHEE 2023-11-09 TIf5 41 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

Polyethylene, high density, granulate {RoW}| polyethylene

HDPE
production, high density, granulate | Cut-off, U
Polyethylene, low density, granulate {RoW}| polyethylene
LDPE
production, low density, granulate | Cut-off, U
Polyethylene, linear low density, granulate {RoW}|
B A% polyethylene production, linear low density, granulate | Cut-
off, U
Copper, cathode {GLO}| market for copper, cathode | Cut-
Rl
off, U
— Sheet rolling, copper {RoW}| sheet rolling, copper | Cut-off,
fAH T
U
Polyethylene, high density, granulate {RoW}| polyethylene
PE #FEHR
production, high density, granulate | Cut-off, U
ERTxIFER Ethylene vinyl acetate copolymer {RoW}| ethylene vinyl
(EVA) acetate copolymer production | Cut-off, U
RELIFER Polyethylene, high density, granulate {RoWj}| polyethylene
(PE) production, high density, granulate | Cut-off, U
BEETEPER (3% | Maleic anhydride {RoW}| maleic anhydride production by
52, catalytic oxidation of benzene | Cut-off, U
_ Aluminium hydroxide {CN}| aluminium hydroxide production
| Cut-off, U
RELXxFER
N-olefins {RoW}| n-olefins production | Cut-off, U
(POE
BETPER (Bh Tetraethyl orthosilicate {GLO}| tetraethyl orthosilicate
71) production | Cut-off, U
. Copper, cathode {GLO}| market for copper, cathode | Cut-
HE
off, U
. Sheet rolling, copper {RoW}| sheet rolling, copper | Cut-off,
TWEMT

U

A2 B8

CCB_PCF_F_006CS

FRZsS 06 BIREMHHEE 2023-11-09 TIfg 42 of 44




R R IR

REHRS: 64.500.24.01352.01

BrdiEdIR

Transport, freight, lorry 7.5-16 metric ton, EURO4 {RoW}|
transport, freight, lorry 7.5-16 metric ton, EURO4 | Cut-off,
U

[FEitkiEt-fhis Transport, freight, lorry 16-32 metric ton, EURO4 {RoW}|
transport, freight, lorry 16-32 metric ton, EURO4 | Cut-off, U

Transport, freight, lorry >32 metric ton, EURO4 {RoW}|

transport, freight, lorry >32 metric ton, EURO4 | Cut-off, U

A3 HliE
L1
Ekeat Argon, liquid {RoW}| market for argon, liquid | Cut-off, U
RETRThZETIR

Electricity, low voltage {CN-ECGC}| market for electricity,
B8 77-EE Y

low voltage | Cut-off, U

Electricity, low voltage {CN-JS}| electricity production,
BB 7-JER photovoltaic, 3kWp slanted-roof installation, multi-Si,
panel, mounted | Cut-off, U

S Diesel {RoW}| market for diesel | Cut-off, U
IKFE Tap water {RoW}| market for tap water | Cut-off, U
EK Waste water
Hazardous waste, for incineration {RoW}| treatment of
G hazardous waste, hazardous waste incineration | Cut-off,
U
Waste, electrical and electronic cables {RoW}| treatment
B4 of waste, electrical and electronic cables, open burning |
Cut-off, U

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 TIk5 43 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

Scrap copper {RoW}| treatment of scrap copper,

BRI AR municipal incineration | Cut-off, U
e Waste polyethylene {RoW}| treatment of waste
Rk o :
polyethylene, municipal incineration | Cut-off, U
. Scrap copper {RoW}| treatment of scrap copper,
& &5 o .
municipal incineration | Cut-off, U
e Scrap copper {RoW}| treatment of scrap copper,
iR o
municipal incineration | Cut-off, U
AR Waste paperboard {GLO}| treatment of waste
B paperboard, open burning | Cut-off, U
. Waste wood, untreated {RoW}| treatment of waste wood,
ARk o :
untreated, municipal incineration | Cut-off, U
Waste polyethylene {RoW}| treatment of waste
[REERI o :
polyethylene, municipal incineration | Cut-off, U
_ Waste polyethylene {RoW}| treatment of waste
polyethylene, municipal incineration | Cut-off, U
. Scrap copper {RoW}| treatment of scrap copper,
BEiREE (555H)

municipal incineration | Cut-off, U

Scrap aluminium {RoW}| treatment of scrap aluminium,
municipal incineration | Cut-off, U

EIE T

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

EENTZ5R

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

Waste polyethylene {RoW}| treatment of waste
polyethylene, municipal incineration | Cut-off, U

BEiSg (3R)

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

Scrap aluminium {RoW}| treatment of scrap aluminium,
municipal incineration | Cut-off, U

CCB_PCF_F_006CS

FRZsS 06 BIREMHHEE 2023-11-09 TIfS 44 of 44




	dark_signature_error: 
	signature_error: 
		2024-03-29T16:24:01+0800
	中国
	文档加密保护




